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PHYSICAL AND MATHEMATICAL IN-
TERPRETATION OF PREDICTS PER-
CEPTION AND BEHAVIORAL CHA-

RACTERISTICS OF LIVING SYSTEMS 
Utrobin V. A. 

 
"Nizhny Novgorod State Technical University 

of R. E. Alexeyev" 
 

Abstract 
We consider the model representation 

processes of primary sensory data handling 
subsystems at the level of innate mechanisms 
for the example of visual perception. We show 
fundamental possibility of formalization of be-
havior and behavior planning at the level of 
elementary, from the point of view of compu-
ting complexity labor input, the procedures 
forming biobasis of biocomputer science. 
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